
6111 6111.5 6112 6112.5 6113
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

6382

6382.5

6383

6383.5

6384

6384.5

6385

6385.5

6386

ru
n

run:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6384}



6111 6111.5 6112 6112.5 6113
cyclenum

98−

97.5−

97−

96.5−

96−

us
l_

1X
usl_1X:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

2−

1.5−

1−

0.5−

0

us
l_

4a
Y

usl_4aY:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

43.6

43.8

44

44.2

44.4

44.6

44.8

45

45.2

45.4

45.6

45.8

us
l_

4e
X

usl_4eX:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

20

20.2

20.4

20.6

20.8

21

21.2

21.4

21.6

21.8

22

22.2

us
l_

4e
Y

usl_4eY:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

42.5−

42−

41.5−

41−

40.5−

us
l_

12
X

usl_12X:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

6382

6382.5

6383

6383.5

6384

6384.5

6385

6385.5

6386

ru
n

run:cyclenum {run == 6384}



6111 6111.5 6112 6112.5 6113
cyclenum

161.8−

161.6−

161.4−

161.2−

161−

160.8−

160.6−

160.4−

160.2−

160−

159.8−

159.6−

us
r_

1X

usr_1X:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

3

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

5

5.2

us
r_

4a
Y

usr_4aY:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

229

229.2

229.4

229.6

229.8

230

230.2

230.4

230.6

230.8

231

231.2

us
r_

4e
X

usr_4eX:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

14

14.5

15

15.5

16

us
r_

4e
Y

usr_4eY:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

45.5−

45−

44.5−

44−

43.5−

us
r_

12
X

usr_12X:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

6382

6382.5

6383

6383.5

6384

6384.5

6385

6385.5

6386

ru
n

run:cyclenum {run == 6384}



6111 6111.5 6112 6112.5 6113
cyclenum

31597.5

31598

31598.5

31599

31599.5

us
l_

co
il1

usl_coil1:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

6286.6

6286.8

6287

6287.2

6287.4

6287.6

6287.8

6288

6288.2

6288.4

6288.6

6288.8

us
l_

co
il3

usl_coil3:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

3903.5

3904

3904.5

3905

3905.5

us
l_

co
il4

usl_coil4:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

1273.5−

1273−

1272.5−

1272−

1271.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

16446.5

16447

16447.5

16448

16448.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

6382

6382.5

6383

6383.5

6384

6384.5

6385

6385.5

6386

ru
n

run:cyclenum {run == 6384}



6111 6111.5 6112 6112.5 6113
cyclenum

27374.5−

27374−

27373.5−

27373−

27372.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

5340.5−

5340−

5339.5−

5339−

5338.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

4250.6

4250.8

4251

4251.2

4251.4

4251.6

4251.8

4252

4252.2

4252.4

4252.6

4252.8

us
r_

co
il4

usr_coil4:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

656−

655.5−

655−

654.5−

654−

us
r_

co
il6

usr_coil6:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

20108

20108.5

20109

20109.5

20110

us
r_

co
il7

usr_coil7:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

6382

6382.5

6383

6383.5

6384

6384.5

6385

6385.5

6386

ru
n

run:cyclenum {run == 6384}



6111 6111.5 6112 6112.5 6113
cyclenum

441.5−

441−

440.5−

440−

439.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

70.8−

70.6−

70.4−

70.2−

70−

69.8−

69.6−

69.4−

69.2−

69−

68.8−

68.6−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

20.5

21

21.5

22

22.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

474−

473.5−

473−

472.5−

472−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

89−

88.5−

88−

87.5−

87−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

19

19.5

20

20.5

21

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6384}



6111 6111.5 6112 6112.5 6113
cyclenum

171.6

171.8

172

172.2

172.4

172.6

172.8

173

173.2

173.4

173.6

173.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

35.5

36

36.5

37

37.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

9−

8.5−

8−

7.5−

7−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

181.6

181.8

182

182.2

182.4

182.6

182.8

183

183.2

183.4

183.6

183.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

27.5−

27−

26.5−

26−

25.5−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

7.5−

7−

6.5−

6−

5.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6384}



6111 6111.5 6112 6112.5 6113
cyclenum

239.4−

239.2−

239−

238.8−

238.6−

238.4−

238.2−

238−

237.8−

237.6−

237.4−

237.2−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

82−

81.5−

81−

80.5−

80−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

1

1.5

2

2.5

3

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

6.5

7

7.5

8

8.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

429.5−

429−

428.5−

428−

427.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6384}

6111 6111.5 6112 6112.5 6113
cyclenum

6382

6382.5

6383

6383.5

6384

6384.5

6385

6385.5

6386

ru
n

run:cyclenum {run == 6384}
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